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ER214E12 3% AD &
. . A 0

B A E # AL
X T # X 0543 3.435 3517 6,952 0
(RKRTFTE#[X) (954) (1,277) (1,365) (2,642) -4
X #F X 2.307 D 855 2.892 5747 -9
X B i K 525 836 762 1,598 _4
X &t 5,375 7.126 7171 14,097 13
h R BR i X 11,109 15.293 15,588 30,881 11
WD E M K 3.045 4419 4.462 3,881 109
N - T : 14154 19.712 20,050 39,762 08
moE o K 1199 1.823 1.838 3,661 20
T 0741 3.804 3.813 7617 17
( 7y #% [ h ) (1,446) (2,064) (2,167) (4,231) 23
& = 23.469 32.465 32.872 65,337 122
TEDNEE 399 367 505 872
@ = 23.868 32.832 33.377 66,209
M A 31 54 64 118
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FR214E11 BEAD i
. . A 0

R OR B % AL
X T i K 0548 3.438 3514 6,952 3
(RKRTFTE#[X) (957) (1,282) (1,364) (2,646) 1
X #F i K 2316 2.862 2.894 5,756 11
X B th X 527 837 765 1,602 1
X F & 5,391 7.137 7.173 14.310 7
& ER #h X 11.110 15,296 15,596 30,892 51
WD R X 3.005 4365 4.407 8,772 49
N - T = 14115 19.661 20,003 39,664 100
M OB o X 1195 1814 1827 3,641 0
S 2,731 3798 3.802 7.600 19
( 7y #% [ h ) (1,436) (2,052) (2,156) (4,208) -13
& £t 03.432 32.410 32.805 65.215 74
DN 405 368 508 876
“ £t 03.837 32.778 23512 66.091
M Bk 54 34 47 81
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R OR B % AL

X T o K 2,547 3.436 3513 6.949 -9
(ATHR#MK) (959) (1,280) (1,365) (2.645) -3
X & i K 2317 2.866 2.901 5.767 3
X B K 526 838 763 1601 4
X B & 5.385 7.140 7177 14,317 -2
h & ER i X 11,085 15,270 15,571 30,841 62
MR K 2,983 4.340 4.383 8.723 35
N - T = 14,068 19,610 19,954 39.564 97
M orE o K 1193 1817 1824 3,641 14
N B X 2737 3.811 3.808 7.619 2
(/N # E ) (1.439) (2,063) (2,158) (4.221) 7
& &t 23.383 32.378 32,763 65.141 111
TYEDNEE 400 366 503 869
“® &t 03.783 32744 33.266 66,010
ST 48 58 44 102
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X T o X 0547 3.443 3515 6.958 -3
(RKRTFTE#[X) (957) (1,278) (1,370) (2,648) 0
X #F X 2313 2860 2.904 5,764 —7
X B K 522 835 762 1,597 -6
A it 5,382 7.138 7.181 14.319 16
R R th X 11.056 15.229 15,550 30,779 71
WD E X 2971 4326 4.362 8.688 47
N - T & 14.027 19.555 19.912 39,467 118
Mo o X 1187 1.808 1.819 3.627 -3
T 0738 3.810 3.807 7617 -3
( 7y #% [ h ) (1,438) (2,058) (2,156) (4,214) 7
& it 23,334 32.311 32,719 65.030 96
=N 401 375 503 878
@ it 23,735 32.686 33,222 65.908
B A W 59 54 41 95
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X T i K 0547 3.444 3517 6,961 0
(RKRTFTE#[X) (956) (1,279) (1,369) (2,648) 0
X #F i K 2319 0.867 2904 5,771 1
X B i K 524 836 767 1,603 6
X &t 5,385 7147 7.188 14,335 5
h R BR i X 11.023 15.190 15518 30,708 79
WD E M K 2954 4296 4.345 8.641 74
N - T : 13.977 19.486 19.863 39,349 153
moE o K 1184 1811 1.819 3,630 -9
S 2,738 3.812 3.808 7.620 11
(/N # B ) (1.434) (2,056) (2,151) (4.207) 2
& = 23,284 32.256 32.678 64.934 160
TEDNEE 399 376 503 879
“ = 23.683 32,632 33.181 65.813
M A 81 86 85 171
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X T i K 0544 3.447 3514 6,961 _g
(RKRTFTE#[X) (955) (1,279) (1,369) (2,648) -15
X #F i K 0314 0.868 2904 5,772 3
X B i K 522 833 764 1,597 -9
X &t 5.380 7.148 7.182 14,330 14
h R BR i X 10,994 15,150 15.479 30,629 77
WD E M K 2,931 4956 4311 8,567 71
N - T : 13,925 19.406 19,790 39,196 148
moE o K 1186 1.816 1,823 3,639 6
S 2.730 3.803 3.806 7.609 _25
(/N # B ) (1.434) (2,055) (2,150) (4,205) 10
& = 2999 32,173 32.601 64.774 115
TEDNEE 381 373 495 368
“ = 23.602 32.546 33,096 65.642
M A 56 63 60 123
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X T # K 2,544 3,453 3,016 6,969 ~2
(RTER#RK) (960) (1,287) (1,376) (2,663) -2
R F #h X 2,308 2,862 2,907 5,769 0
Xk A i K h22 837 769 1,600 8
A T BT 5,374 7,152 7,192 14,344 6
h & ER ih X 10,969 15,103 15,449 30,552 101
WoR it X 2,904 4225 4271 8,496 116
N - T § 13,873 19,328 19,720 39,048 217
fn B O X 1,183 1,815 1,818 3,633 4
N O X 2,739 3,818 3,816 7,634 -6
( 7y #K ih ) (1,435) (2,060) (2,155) (4,215) 3
(= it 23,169 32,113 32,546 64,659 221
N E AN E B 377 370 490 860
i it 23,546 32,483 33,036 65,519
HiI )= tt 121 114 119 233
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X T i K 0543 3.449 3,522 6,971 1
(RKRTFTE#[X) (959) (1,288) (1,377) (2,665) -6
X #F i K 2.305 0.858 2911 5,769 -6
X B i K 519 833 765 1,598 0
X &t 5.367 7.140 7.198 14,338 7
h R BR i X 10,916 15.063 15.388 30,451 65
WD E M K 2,858 4167 4213 8,380 79
N - T : 13,774 19.230 19.601 38.831 144
moE o K 1179 1.815 1814 3,629 9
S 2,738 3.819 3.821 7.640 16
(/N # B ) (1,432) (2,.057) (2,155) (4.212) 13
& = 23.058 32.004 32.434 64.438 130
TEDNEE 367 365 483 848
“ = 03.425 32.369 32,917 65.286
M A 76 67 81 148
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X T # K 2,546 3,453 3,019 6,972 -8
(RTER#RK) (962) (1,292) (1,379) (2,671) -6
R F #h X 2,304 2.866 2,909 5775 ~272
Xk A i K h21 831 767 1,598 3
A T BT 5,371 7,150 7,195 14,345 -27
h & ER ih X 10,885 15,024 15,362 30,386 361
WoR it X 2,823 4130 4171 8,301 122
N - T § 13,708 19,154 19,533 38,687 483
fn B O X 1177 1,812 1,808 3,620 10
N O X 2,735 3,828 3,828 7,656 -17
( 7y #K ih ) (1,431) (2,065) (2,160) (4,225) -19
(= it 22,991 31,944 32,364 64,308 449
N E AN E B 358 358 472 830
i it 23,349 32,302 32,836 65,138
HiI )= tt 243 232 236 468
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X T o X 0545 3.458 3,522 6,980 1
(ATEH#HEK) (961) (1.298) (1,379) (2.677) 4
X #F X 2314 0873 2924 5.797 0
X B K 519 832 763 1,595 -6
A it 5.378 7.163 7.209 14.372 -5
R R th X 10,706 14.848 15177 30,025 304
WD E X 2776 4.067 4112 8.179 65
N - T & 13,482 18.915 19.289 38,204 369
Mo o X 1168 1.808 1.802 3.610 1
T 2729 3.835 3.838 7673 —7
( 7y #% [ h ) (1,430) (2,075) (2,169) (4,244) 4
& it 22,757 31,721 32,138 63,859 356
=N 349 349 462 311
@ it 23,106 32.070 32.600 64,670
B A W 223 210 153 363
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X T o X 0534 3.461 3518 6.979 8
(ATEH#HEK) (958) (1.301) (1,372) (2.673) 7
X #F X 2306 0868 2929 5.797 15
X B K 518 836 765 1,601 -3
A it 5,358 7.165 7.212 14.377 10
R R th X 10,560 14.675 15.046 29,721 54
WD E X 0746 4.034 4.080 8.114 33
N - T & 13.306 18,709 19.126 37,835 87
Mo o X 1166 1.804 1.807 3611 3
T 2713 3.838 3.842 7,680 8
( 7y #% [ h ) (1,420) (2,071) (2,169) (4,240) 8
& it 22,543 31,516 31,987 63,503 38
=N 340 344 460 304
@ it 22.883 31,860 32,447 64,307
B A W 42 44 51 95
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X T o X 0533 3.455 3516 6,971 —4
(ATE#K) (955) (1.297) (1.369) (2.666) 0
X #F X 2305 0878 2934 5.812 31
X B K 520 837 767 1.604 -8
A it 5,358 7.170 7217 14.387 19
R R th X 10,540 14.645 15,022 20.667 104
WD E X 0737 4.020 4.061 8,081 14
N - T & 13.277 18.665 19.083 37,748 118
Mo o X 1164 1.804 1.804 3.608 —4
T 2705 3.839 3.833 7672 -6
( 7y #% [ h ) (1,416) (2,072) (2,160) (4,232) 3
& it 22,504 31,478 31,937 63,415 127
=N 337 338 459 797
@ it 22.841 31,816 32,396 64,212
B A W 57 61 55 116




